24/06/2016 College Lecturer Exam - Economic Admn And Finance Management-I|

Rajasthan Public Service Commission - 2016 o
ues: 150

Paper : Economic Admn And Finance Management-I11 Time: 3 Hours

Ques # :1

Which function is not included in quantitative methods of credit control by Reserv Bank of India ?
1) Bank Rate

2) Open market operations

3) Rationing of Credit

4) Change in cash reserve ratio

T Rerd 3 i arE =T RfYET & g st ) anfae a8 a2
Ddsax

2) gor IR 1 forame

3) @ & rerfer

4) TTehe; 1Y 3eTdTd F IR

Ques # :2

Regional Rural Banks issued __ for credit facilities to farmers.
1) Ration card

2) Debit card

3) Kishan credit card

4) PAN card

RraTeil 1 arE gReT & R deh amfor et fodtare R,
D) qerer 18

2) T FE

3) fopaTeT hige 1S

4) dF 1S

Ques # :3

Which asstes will not be considered as NPA's recommended by Narsimham Committee ?
1) Standard

2) Sub - standard

3) Doubtful

4) Loss

R gt wiAfe qary Fr ol Rreient # frer wafeaat w1 317 - frsureer gufeaat & s A ATy

1) gduss

2) 39 - ¥¢usE
3) TeETEIG
4) arfer

Ques # 4

Present capital adequacy norms are followed by banks based on :
1) Reserve Bank of India Act
2) Banking Regulation Act
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3) Indian Company Act
4) Basel recommendations

dFl garT FATT Golt qaTeaar A raresr_ awamaiRa B,
D s Rerd S siffaas

2) dfeer o rRIfeTs

3) AR el afRRTH

4) e gawT JreRifvd

Ques # :5

Cost per transaction for bank is minimum by using :-
1) Telephone

2) ATM

3) Internet

4) Manual

__ S I3YANT A W 36 & O ufe wer anrd sgaas @ &
1) ey

Dudrux

3) getare

4) eazrer

Ques # :6

Authorized capital of Industrial Financial Corporation of India ( IFCI ) has been increasing in various steps
from 20 crores to :

1) Rs. 1000 crore
2) Rs. 1500 crore
3) Rs. 2500 crore
4) Rs. 5000 crore

AR 3ite e fea e it srfea o R i A 20 s G aeme__ framaHrs.
DB ETIES
2) %, 1500
3) %2500 T
4) 5. 5000 IS

Ques # :7

Largest contributor regarding initial financial resources of Unit Trust of India is :-
1) Reserve Bank of India

2) Life Insurance Corporation of India

3) State Bank of India

4) Central Government

AT gfare gre & TRIAF e w&al & ga 937 3rereran g :
D s g &

2) YR Shaet ST e

3) R 'ee S+

4) g TWHR
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Ques # :8

Headquarter of Small industrial Development Bank of India ( SIDBI ) is located in :
1) Patna

2) Lucknow

3) Bangaluru

4) Kolkata

AR oY 3T e ds waeaew_ ARya®.
1) gy

2) @1

3) Sarere

4) Sprelehedr

Ques # :9

' Capital adequacy ' is a great challenge before banks because :
1) Public sector banks hesitate to tap market.

2) Bank customers are not interested

3) Non - cooperation of top management of banks

4) Bank reform is not allowing to do it

" it gafeear ' At & garat v farerrer galdt § Fifs -
D) ardenfares 8% aTeR @1 e 7 e @a v

2) dF aEar P ERAEE

3) ot & 3T geer &7 IHEANT

4) do FUR TaT T A HAR T &

Ques # :10

New product launching in the market is a big challenge before banks because :-
1) Customer is not ready to accept new product

2) Competition amongst various financial institutions

3) Reserve Bank of India discourage to launch new product

4) Government policy is not allowing it

ISR # AT 3¢UTE Y SARAT dHT & THET U 31 FeAlel § F41f -

D) STaR AT 3cure il TNFR - & o IR AT &

2) faffieet facd geum=t & Avg wiaafEan

3) AT RSTd 8% AT 3cu1E &Y SR # 39 1 galcaed aar g
%) Ty e YT A i AT E i

Ques # :11

Implementation of charter of customer rights is a challenge before banks because :-
1) Most of the banks customer are illeterate

2) Customers dislike it

3) Treating customer fairly is moto of banking

4) Customers are not facing any problems

SUHIFT BN ATET AT FIAT dehl F FHET oA lell § FIP :-
D) srforpier S amees sRfAIT &
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2) gk ATTHS IS &
3) 3qsfiararait & AT ITET YIRSt I 3227 &
4) 3qeerdT forel A T THEAT T TTHAT 78T I &

Ques # :12

In Basle committee recommendations, one of the recommendation relates to :-
1) Profitability ratio

2) Capital adequacy ratio

3) Activity ratio

4) Assets - Liabilities ratio

T gfAafa f RAERet &, v e greafa -

D) smsrerae 3T

Ques # :13

Foreign Direct Investment has been allowed in private sector banks upto :
1) 49 %
2) 35%
3) 39%
4) 10%

forstt dt & Raereft were faforer i sregafar aF QAT -
1) 49 %
2) 35%
3) 39 %
4) 10 %

Ques # :14

An investment made by multinational corporation to increase its international business is :-
1) Foreign Institutional Investment

2) International Finance Investment

3) Foreign Direct Investment

4) Capital Market Investment

TR FoAITH ZaRT U1 RIS qaard # gfe FI & ford o ara Rfaaer g -
D) fagef deame afaer

2) 3rcRisra Tt

3) geare fageh fafaer

4) g5i STaTR fafaer

Ques # :15

The country that attracted the largest foreign direct investment inflows was _ in 2001.
1) Hong Kong

2) China

3) Singapore

4) India
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g8 <o fae a¥ 2001 H "o el yexer fRAfaaer srqaaie smsfia frar g -
D) o

2)€n7_r

3) R

1) Ra

Ques # :16

_______ are the receipts issued by the depository against the shares issued by an Indian or any other foreign
firm and that are deposited with the depository.

1) American Deposit Receipts
2) Global Deposit Receipts

3) Euro Deposit Receipts

4) Special Drawing Rights

_ v i & o e gamr et SRl an e i Rt we garr eifRe st & Rivg
A i o § 3t 3 e & grg ST A |

D) 3R fadr v

2) 3Rger fardr we;

3) 2 vyl g

4) f3RI 31mgTor IRER

Ques # :17

The Balance of payment statement consists of  accounts.
Iy 2

2) 3
3) 4
4) 5

$TITCAT HeJelel faavor gal ¥ fAas aaar .

1) 2

2) 3

3) 4

4) 5

Ques # :18

The World Trade Organization was formed in the year with GATT as its basis.
1) 1993

2) 199%4

3) 1995

4) 1996

AT AR TIBT FTaY  F 3T & HUR F T & 75T FaT 341
1) 1993
2) 1994
3) 1995
4) 1996

Ques # :19

Any foregin institutional investor wants to invest in India should get registered in :-
1) Securities & Exchange Board of India
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2) Reserve Bank of India
3) Government of India
4) Ministry of Finance

¢ Raeh FEamra Rt sma # R s arard, 3@ # geliga deraem
D) s gfaeifa o fafeaer Avsar

2) i Rerd o

3) g THR

1) e HIGT

Ques # :20

Accounting unit of IMF is :
1) GDRs
2) SDRs
3) ADRs
4) EDRs

FARTSET HET HIV Y AW Th $H1E ¢
Dadram

) W@ IR

DTH IR

DEA IR

Ques # :21

Member of International Monetory Fund contributes quota subscription for : (A) Determine voting power (B)
Determine SDRs (C) Form a pool of money Select the correct answer using the codes given below :

1) (A) only

2) (B) only

3) (A) and (B)

4) (A), (B)and (C)

HATSET AT FIY & TG & T T 3r2ASTT FIA 8. (37) A ATFaT FaRor (@) [y
SHTETOT HTAHR AR () F&T F7 6 A T T Fek 7 YA FIA G TE Iea 1 734 Ao

D (31 &aer

2) @ Faer

3) @n IR @

Y @), @ 3R @

Ques # :22

is not a function of World Bank.

1) Exchange stability
2) Lending

3) Guarantee

4) Technical assistance

egdFaFTaiadit-
D rafas feear

2) 3YR &
3)
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4) et TETIar

Ques # :23

International Bank for Reconstruction and Development is called as :
1) Asian Development Bank

2) World Bank

3) International Monitory Fund

4) International Development Association

T AT T RFmdF RN F T H @RI
1) vferaet e &

2) faeg o

3) STRTSERT HeT Iy

4) IRTSERT e aRve,

Ques # :24

Main financial resources of Asian Development Bank are : (A) Share capital (B) Loan (C) Special Fund Select

the correct answer using the codes given below :
1) (A) only

2) (B) only

3) (A), (B) and (C)

4) (A) and (B)

vRrae R 8% & wea feda wa § - @n st §lt @) %or (@) Ry Fiw i Ruge et #
mmgtrm&ﬁvﬂmmﬁ:

D (31 Faer

2) @) Faad

3) @1, @ AR @)

Y @31 3R @)

Ques # :25

Export - Import Bank of India was set up for the purpose of foreign trade. (A) Financing (B)
Facilitating (C) Promoting Select the correct answer using the codes given below :

1) (C) only

2) (B) and (C)

3) (A) and (C)

4) (A), (B) and (C)

AR T e - Imre do Rl eamar & & 327 3 aifea fanam aram. 3n) R diwor @)
Wmm(mmmmmg@mmmgwwmmmz
D (@) Fae

2) (@) 3R @)

3) @31 3R @)

Y @), @ 3R @)

Ques # :26

The risk which is not covered by Export Credit and Guarantee Corporation of India :
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1) Insolvency of importer
2) Loss due to change in exchange rate
3) Stop payment due to war
4) Refusal of taking delivery

R T foraTer W @ IR fovorer forer SR & &t werer 7t &dar -
D) straraes &1 fiearforar gier

2) RfaAg e # aRada T i

3) g & FIOT ST LT

) gaéef A= & Fedy

Ques # :27

Hedging techniques are risk management tools cosits of : (A) Forward contract (B) Future Contract (C)
SWAPS Select the correct answer using the codes given below :

1) (B) and (C)
2) (A) and (B)
3) (A) and (C)
4) (A), (B) and (C)

YRATTeH e SATEAT Aeheiish STEH TG ITHIVT § AT FAAF a1el § - (31) 3179 3179w (@) srvelt
W(ﬂ)ﬁq:ﬁ#mga{ﬁmmmﬁg@w’rmmmmz

D @ 3tk @)

2) (31 3R @)

3) @0 3R @)

Y @n, @ 3R @)

Ques # :28

A SWAP transaction is a combination of :
1) Spot and forward

2) Forward and future

3) SWAP and spot

4) SWAP and forward

T T el FrEaer -
D) gifor wa fam

2) 31f3# ug e

3) 79 v gIfeR

1) '99 ug 3H

Ques # :29

Exposure is defined as change in the : (A) Value of assets (B) Liabilities (C) Income or expenses Select the
correct answer using the codes given below :

1) (C) only

2) (A) and (C)

3) (A), (B) and (C)
4) (B) and (C)

hfaw # Rade & & 7 aRenfa ¥ - (31 wufeaat #1 777 (@) el @) g Ed A=
ferw g et &1 9T FIA §T FE S FT TS Ao :
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D (@) Faer
2) (31 3R @)
3) @D, @ 3R @
Y @ 3R @)

Ques # :30

For trade, travel, tourism and education to abroad rupee is :
1) Partial convertibility for current account

2) Fully convertibility for current account

3) Partial convertibility for capital account

4) Fully convertibility for capital account

g SATIR, AT, e g Ramdg s ¥
D) grey @ra & forw 31ifes aRadeiar

2) T @TeY 3 fordy qut aRadieiarar

3) goft e & fore 3iRies aRedetareT

4) Gl @ & fordy ot aRactshaar

Ques # 31

The main service functions of primary market are : (A) Origination (B) Underwriting (C) Distribution Select
the correct answer using the codes given below :

1) (A) and (B)
2) (B) and (C)
3) (A) and (C)
4) (A), (B) and (C)

YT SToTR & A& Wal H1d § - (31 3gae (&) ARG (@) Rreawor i e gu et 1 var 1
gca%’rwmmaﬁﬁ'z’r:

D @n sk @

2) @ 3R @)

3) @30 3R @)

Y @n, @ 3R @)

Ques # :32

The public issue programme manage by :
1) Promoters

2) Lead Managers

3) Advertising Agent

4) SEBI

adefas AT sREA R vEY _ Fgarr fFarSrard.
D gade

2) 3rarofy yetren

3) oot 3fAHar

4) gy

Ques # :33

Which one credit rating agency in India won prestigious award :
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1) ICAR
2) CARE

3) CRISIL
4) ONICRA

R A FFE AT Fedishal Tl o 9faffed qresr sftar 2
D 318 ¥ 3 © (g

2) M THR S ()

3) &Y 31X 377S T 311S v (RTAen)

4) 317 Tt 3 € IR T 3N

Ques # :34

Who manages for the issue of Central Government Securities ?
1) Central Government

2) Reserve Bank of India

3) Ministry of Finance

4) Ministry of Company Affairs

FAIT THN afeifaal & Petaa s yeu Flg aar g 2
D) &g TR

2) R Rerd S

3) faeq Ao

4) S ATHGT T AT

Ques # :35

Merchant Banks are not playing development role in : (A) Technical aspects (B) Managerial aspects (C)
Enterpreneurial aspects Select the correct answer using the codes given below :

1) (A), (B) and (C)
2) (B) and (C)
3) (A) and (B)
4) (A) and (C)

adecdw_ # Remacas gffe a8 Qe @ € - (37 aw=d 986 (@) TeUH (F) 3ufRar
ﬁmgfdmmmgaﬁwmmmﬂ:

D @&n, @ 3k @

2) @ 3R @

M EnR@

) @30 3R @)

Ques # :36

Highly Liquid security remains in :
1) Shares

2) Mutual fund units

3) Commercial papers

4) Treasury bills

3o v wfaefa 8 :

1) 3ter
2)
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3) egraiftes o=
4) PIYER fauT

Ques # :37

Deciding factor of measuring the systematic risk is :
1) Theta

2) Beta

3) Gamma

4) Delta

_, cqafeyd @A & AT FT FAuias geF §
1) ofyar
2) e
30 ey
4) et

Ques # :38

According to Arbitrage Pricing Theory, an investorwould try to increase returns from his portfolio :
1) By reducing the risk

2) Without changing the portfolio

3) By increasing the portfolio

4) By increasing the risk

faartiier Frea fruiRor Reia  sear e Rfaaes 3ad Aemfaat @ v 3ig &1 v
I -

D) e =1 o e gv

2) aicwifera 7 5 aRada &

3) diewifera 1w # gfg A gu

4 S 1 Ferd gu

Ques # :39

Mutual Funds in India are regularized by SEBI for safeguard of :
1) Trustee

2) Sponsor

3) Asset Management Company

4) Investors

HR H el GART TRETR HIST T AT Y &I 988 & w7 7 fram e &-
D) geamefy

2) yrreteh

3) gufea weer sFqel

4) A

Ques # :40

Investor Protection and Education Fund is created by :
1) Central Government
2) Reserve Bank of India
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3) SEBI
4) Ministry of Commerce

Rfaes serraa R s R & garr gioa R -
D) &g @R

2) IR Retd S

3) et

4) aritTeT F#ATT

Ques # :41

The Ministry of Corporate Affairs provides wide range of services like : (A) Investor helpline (B) Watch out
investors (C) Portal for public grievances (D) Investor awareness programme Which is correct of the above ?

H A
2) B
3)  C
4 D

T AT FATer RAfAASH! & AT 3ffe avg Y 910 ye=T Far g, 3 - (A) _RfFaes
gevarsd (B) Rfeasrs i AR (C) 1 aRaesr ofée (D) RfFaSrs SIeesdr sEH 3R
A HTATIHE?

1) A
2) B
3) C
4) D
Ques # :42

As capital market regulator, the SEBI has been making tremendous effort towards: (A) Investor Protection
(B) Capital market development (C) Policy formulation Select the correct answer using the codes given below

1) (A) only

2) (B) only

3) (A) and (B)

4) (A), (B) and (C)

JN @RI YN TR PRAFF FTTA & Aeiar 3w 7 31 38 § - (31 Rfeasrs aweor @)
Yol aToTR e (@) #Aifer faTor iy few g et &1 92 T §T Fe) Sk 1 73 Hiford :

D ) e

2) () Fad

3 @n k@

Y @, @ 3R @)

Ques # :43

The headquarter of the Securities and Exchange Board of India (SEBI) is in :
1) Chennai

2) Delhi

3) Mumbai

4) Kolkata

AR afsifer va Rfes a1 &1 AEaea ¥ -
D) et
2) oo
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3) s
4) Sprelehedr

Ques # :44

The SEBI is not empowered for :
1) Stock exchange regulation

2) Stcok brokers regulation

3) Investor protection

4) Payment and settlement

AN Y afFaar yrea 7@ 2 -
D) Eerer RfasT s

2) Ther goTel et

3) fafarea dxefor

4) sgareTeT T AT

Ques # :45

Capital budget defines as the firm's decision to investin the asstes.
1) Very short - term

2) Short - term

3) Medium - term

4) Long - term

(e R ey e o R A et axard -
D) 313 sreqsrreaa

2) 3reqehreneT

3) FEgHTeNT

4) ErefepreleT

Ques # :46

A flexible budget is necessary for a business enterprises whose demand for goods is . (A) Stable (B)
Unstable (C) Seasonal Select the correct answer using the codes given below :

1) (A) only

2) (B) only

3) (A) and (B)

4) (B) and (C)

UF SAIAHIAF 395 foad aeqat A AR 7, 39 v v araefie a9ie sraeas ¢ - (31
fReaR (@) IR () e A v g et &1 w2 37 §U Fe) Sk 1 w3 Ao

D (31 Faa

2) @) Faa

3) @n AR @)

Y @ 3R @

Ques # :47

Estimated expenditure on Man Power planning at different levels is called :
1) Labour budget
2) Human resource budget
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3) Union budget
4) Master budget

fafliest TRt oX Arera afFa & e W el are IrgATfad oag A FeT AT E :
D) s @ote

2) HATeTg e Sole

3) 3H gg §ole

4) AT ol

Ques # :48

Factor does not influence the size of working capital :
1) Business Cycle

2) Growth and Expansion

3) Nature of Business

4) Dividend policy

Frrefier 4ol & ATHR I TR 4T FIet aTell UCH ¢
D =R 7

?) gfg 7 faar

3) caaT i St

4) amstier AN

Ques # :49

The impact of changes in sales on operating profit shows :
1) Financial leverage

2) Operating leverage

3) Combined leverage

4) Optimum Capital structure

gfEnforda oy W) QT #F aRads ST ya geiar e :
D) faedra sedters

2) gR=Tee 3cdiae

3) HYF Seciloleh

4) 3HeTheId# EGIGED

Ques # :50

If financial leverage is 2, fixed interest charges Rs. 1,00,000. Operation profit would be :-
1) 3,00,000
2)4,00,000
3) 2,00,000
4) 1,00,000

I [ 3cdlers 2 TUT TR AT T @ 1,00,000 F. §. TRETT o197 8191 :
1) 3,00,000
2) 4,00,000
3) 2,00,000
4) 1,00,000

Ques # :51
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Formula for calculating Acid - Test Ratio is :
1) Current Assets / Current Liabilities
2) Quick Assets / Quick Liabilities
3) Current Assets / Quick Liabilities
4) Quick Assets / Current Liabilities

IF - 9T T HTHA ¢ -

D) ey wufeat / are arfiea

2) cafa dufeaat / cafid afdrea
3) e Fdfedar / calkd gififica
4) cafa dufeaat / are afiea

Ques # :52

Which is not acivity ratio :
1) Sales / Inventories

2) Net Profit / Sales

3) Sales / Trade debtors

4) Purchase / Creditors

FleraT AT U AL :
D) fagmar / T

2) org @met / s

3) fashar / SaTaTR e &eeR

1) g / AeTeER

Ques # :53

Debt - Equity ratio is a :
1) Liquidity ratio

2) Leverage ratio

3) Profitable ratio

4) Activity ratio

FOT - HHAT [T 8 :
D) erer 3rerara

Ques # :54

Current Asstes Turnover Ratio is included in :
1) Activity ratio

2) Profitable ratio

3) Liquidity ratio

4) Leverage ratio

Te] e Jrae Jregare # eanfAer form s 8.
D) aftrerar srgara

2) TG Tl
3) T oAt
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4) 3care® 3T

Ques # :55

Increase is fixed assets due to purchase is a :
1) Sources of funds

2) Uses of funds

3) Sources and Uses of funds both

4) Capital gain

T & FROT TR Fafeaat Agfa @
Dy & &a

2) &Yy & 39T

3) FIY & FET g 3T At

4) ahr ammet

Ques # :56

Owner of retained earning is :
1) Equity shareholders

2) Preference shareholders

3) Debenture holders

4) Bond holders

wfaaRa s F e ¥
1) orar sreremdy

2) gaiferepr feremy

3) o7 - 9T ¢TRh

4) 97 UR

Ques # :57

Confidence among shareholder remains due to :
1) Liberal dividend policy

2) Conservative dividend policy

3) Stable dividend policy

4) Interim dividend policy

HUYRPI H Qg garg . A -
D) 3er amsrer e

2) o srarer fy

3) TR amerier DY

4) 3tafer emsmer At

Ques # :58

The term ' Regression ' was first used by :
1) Sir Fransis Galton

2) Goode and Half

3) PV Young

4) Morris Hamberg

" TG ' Qe T JANT TUH I- & garT forar T

file:///C:/Users/DIPLMain/Desktop/Rpsc-CLE-QPs/82-Economic%20Admn%20And%20F inance%20Management-1//QP_82-Economic%20Admn%20And%2...  16/41



24/06/2016 College Lecturer Exam - Economic Admn And Finance Management-I|
1) a3 wifaw ameea
2) M2 ud g
3) &y, &Y. Far
4) S et

Ques # :59

In any distribution the success and failure does not ramian constant, that distribution can not be :
1) Binomial

2) Poisson

3) Normal

4) Gaussian

Tt oY Faavor & W erar U 3G aaT R AT @A &, a8 1ET &Y Fehal.
D) srsanifasme

2) gigaeT

3) AT

4 Mf{z=T

Ques # :60

Number of accidents met by a taxi driver in a year. The ____ distribution is applicable.
1) Binomial

2) Poisson

3) Normal

4) Gaussian

giea3 1 ¥Ear i 5 el v af A dvl smR @ aRa g et ¥, desw e gane.
D) sresnfasme

2) gigaet

3) Fre

) aifaTe

Ques # :61

Each and every unit of the population has an equal chance of being selected in case of :
1) Purposive method

2) Mixed method

3) Random method

4) Self Selected

_ Rufyd qafte Y 9 3hTE & T gl Y WeHTaAT ST gt § -
D) Regqze

2) fafaa

3) arefeos

%) ¥adt gt Tafad

Ques # :62

A drop of blood is an example of :
1) Random sample
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2) Extensive sample
3) Area sample
4) Quota sample

G 1 0F 98 T TF 3ETET0T & -
D) arefeos yfaaas

2) 31T giade]
3) gy wfagae
4) 3921 gfrargeT

Ques # :63

" The hypothesis is a proposition which can be put to test to determine validity" , defined by :
1) Lundberg

2) Goode and Half

3) P. V. Young

4) Morris Hamberg

" IREF YT T FYT ¢ AT deraT & forefior i ameyarfas s & w7 & gRenRa frarare ¢ -
) gzt

2) M ud gre

3) oy &y gt

4) A geaet

Ques # :64

The error refers to the rejection of a null hypothesis when it is true is symbolized by :
1) Alfa

2) Beta

3) Gamma

4) Theta

T8 qfe N YT INFTT F 579 TF T 8, B TSR A M INSPa e, 39 Res
AR caFd T SITaT &

1) 3remr

2) e

3) AT

4) ofyer

Ques # :65

In ANOVA table variance ratio is stated as -

1) F
2) T
3) Z
4) X

Frettar arfdesr F ReROT IquTd & W F oged AT AT g
D u

2) &

3) I

4) 78
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Ques # :66

The method in which the given data are plotted on a graph paper is called :
1) Parabolic curve method

2) Newton's method

3) Graphic method

4) Langrang's method

g fafr Swa T 71w o+ &1 1% IR W 3meEd frar Arang
D) qftgerf¥e o= [t

2);&@?[1%!%

3) anfre 9T

4) St fater

Ques # :67

The linear programming suggests the selection of the possible combination of production to get

maximum profit.
1) Good

2) Better

3) Best

4) Reasonable

YT S JAFAA AT I SUCA F_ HHTST WA F IqA FT A AT -
1) grss

2) ysaeR

3) FsaaH

1) 3t

Ques # :68

Graphic method of linear programming is suitable in case of variable only.

1) 2
2) 3
3) 4
4) 5

T W Y T - R AfYr 33 Rufa & sfRa & 9 == f e Fao g

) 2
2) 3
3) 4
4) 5
Ques # :69

The number that exists at the intersection of the key column and key row of a simple table is known as :
1) Slack variable

2) Key number

3) Row number

4) Column number

Rrcea aifors # A 9fed T 7 FidH & RERSeT W HFd FEAT F Facl o
D) srea ==
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2) Ao T
3) ufera g
) slorH FE&T

Ques # :70

The sixplex method was originated by :
1) George B. Dantzig

2) James B. Dantzig

3) George B. Dante

4) George V Dantzig

Rrrasw R F3gas_ & qarr fFar o -
D) et o Seforer

2) Sreg Y Seforer

3) et i g

4) Sirer &Y Sefar

Ques # :71
A person or a unit coming to the counter of service centre for the purpose of getting specific serviced is called

1) Person

2) Consumer
3) Customer
4) Unit

TS gfFd a1 3h1S AT RATAST Fa1 YT et F v Far g W AT ], S Fed ¢
D) egfea

2) 3qsierar

3) e

4) gars

Ques # :72

Balking refers :

1) A customer decides not to join the queue due to much lenght queue
2) Leaving one queue and joining other queue

3) Customers remains in the queue

4) Customer waits in the queue for some time and then quits

' wfsars ' arafa -

D) we e St el AR & HROT T S5 T Fl &

2) U HAR DI gAY FaR H 3T E

3) IMTge AR # 1T @l &

4) IMEF FAR F Fo THT & o TR AT § AR TE H o T

Ques # :73

Arrival rate denotes by :
1) Lamda
2) Mue
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3) Beta
4) Gama

IeNa eI F _ F WA fAfdse Faramare -
D) 3Fer

2)33;!-\

3) T

4) ImAT

Ques # :74

Reneging refers :

1) A customer who waits in the queue for some time

2) A customer decides not to join the queue due to much length

3) A Customer who waits in the queue for some time and then quits
4) A Customer who does not like to join the queue

D) am5e St F5 Fa & forw SR # gelieT Far g

2) g it 317 Tl HAR & HROT HAR H o T3 T FAT &

3) e FAR H FS TAT & ford Taf el § AR g Aoz aarg
1) rger S FAR A ST IEC g Il

Ques # :75

The technique which helps in minimizing total waiting and service cost is :
1) Probability

2) Linear Programming

3) Game theory

4) Queuing theroy

IE AF=AF 3 TO TeaT A T FAT AR FY wAqH FYA 3 7GG FIA S -
D) orfarerar

2) Y& FEHA

3) et Rrgtar

%) har Rgia

Ques # :76

The game theory propounded by :
1) John von

2) Erving

3) Henry

4) Dantzig

B Rgia wfaarfea fFar o -
D) Sifet aret

2 et

3) derdy

4) gifesw

Ques # :77
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Minimax refers to the value which is minimum of maximum value of a :
1) Pay off matrix

2) Row

3) Column

4) Game

TYARF & HGaA Aol A 4oaH Ao § FFafeud § -
1) e

2) 5feq

3) wprers

4) grer

Ques # :78

The course of action adopted by the competitor of the game is known as :
1) Game

2) Player

3) Play

4) Competitor

ST H HIT A=t arer TfaA AT & arT e FTEAATE FY IAIATAT ATAT § 36 AT ATATR
1) frer

2) fEemsr

3) Qe

4) gferaeft

Ques # :79

Critical path indicates the possible time for the completion of a project.

1) Minimum
2) Reasonable
3) Maximum
4) Sufficient

Fifaey FH R R O FR F T sraeds gl a@T &1 @&Fa Fare -
1) st

2) s g

3) frepas

) e

Ques # :80

Dummy activity is that activity performed :
1) Before an activity

2) After an activity

3) Along with other activity

4) Without time determination

sH P TE WA P FIFIea AT g
1) foreir R & o

2) et foRaT & e,
3)
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T fopar o a1
4 T gag Ay

Ques # :81

Node is the event of two or more activities.

1) Beginning
2) Ending

3) In between
4) Any time

A ATA F 3w Faafdiy | =earg:
D yrifares

2) ganfed

3) S

4) frey ofr gH

Ques # :82

Programme and Evaluation Technique was developed by :
1) Navy of United States America

2) Army of United States America

3) Airforce of United States America

4) Defence of United States America

FRAHH Hedlehel Td HHIGT deheileh T T fham arm -
D) wgera o 3R i A gan

2) e U ARG I JeT IR

3) FgFd U wfaT 1 arg afed gamr

4) Tgerd T ARET &1 6T garT

Ques # :83

Which of the following cannot be called as a debt Instrument as reffered in financial transactions ?
1) Bonds

2) Loans

3) Stocks

4) Commercial Papers

facchar Aereat & sfeaf@a sqar faeer & & R For 3ushor 718t et 3T Wt 2
D) sfogg

2) o7

3) Qrert

4) sy g7

Ques # :84

Which of the following is known as plastic money ?
1) Bearer cheque

2) Credit Cards

3) Demand Drafts

4) Gift cheque
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foret & @ Y confea e & T A ST ST § 2
D) g 3
2) sfse 18
3) AT 3R
) 3qER qF

Ques # :85

Electronic clearing service in Banks can be availed only by :
1) Individuals

2) Corporates

3) Senior Ciizens

4) All of these

$1 3 soreifors wATRYST AT e & GEN -
D) safeaat

2) srrafaar

3) aftss AR

4) garst ol

Ques # :86

The first nationalisation of commercial banks was done on :-
1) 19.07.1969
2) 19.07.1970
3) 19.07.1967
4) 15.08.1967

AT T ST IgaT TSEIHTOT &Y TR IT ;-
1) 19.07.1969
2) 19.07.1970
3) 19.07.1967
4) 15.08.1967

Ques # :87

RBI was established in 1935 pursuant to recommendation of :-
1) Gorwala committee

2) Talwar Committee

3) The Hilton Young Commission

4) None of these

1935 % o Rord S Freumaer i Rt F sqar Fy ol .-
D) siRarer gfafa

2) qelaR TRl

3) Ree TaT HAT2rT

4) g7t O 1S E

Ques # :88
One rupeenote and all coins are issued by :-
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1) Reserve Bank of India

2) Centeral Governmet

3) Central and State Government
4) All of these

F A F AT AN RAFH @I R i -
D s Rerd

2) &g THR

3) Fg AT T THN

1) soTar & |l

Ques # :89

Banking ombudsman has been constituted under which act ?
1) Banking Regulation Act

2) RBI Act

3) SBI Act

4) All of these

e ST FT o TR AAfATH & dea fFaT AT 2
D 3t Rfagaa s

2) RBI 3T

3) SBI 1A TH

1) go7ef & el

Ques # :90

The WTO was born out of negotiations in which round of the GATT.
1) Tokyo Round

2) Geneva Round

3) Turkey Round

4) Uruguay Round

de & FIT A T3V F ardT § AT AR e Scqea §31T 41 ?
D) St r3me

2) foirar U3vs

3) ehf 3Us

4) 3599 3US

Ques # 91

Basel norms which are important regulatory stipulations are meant for which sector ?
1) Micro Finance

2) Insurance

3) Pension Funds

4) Banking

49 ATIEUS SN Ageaqut AT ot ¥, R 89 @ Adee W@ ¥
D) sArgst faeat

2) T

3) gereT Py

4) §f¥T
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Ques # :92

Export - Import Bank of India was setup in :-
1) 1982
2) 1983
3) 1992
4) 1994

g - P dE | #F vaia I -
1) 1982
2) 1983
3) 1992
4) 1994

Ques # :93

What is call money ?

1) Money borrowed or lent for a day.

2) Money borrowed for more than one day but upto 3 days
3) Money borrowed for more than one day but upto 7 days
4) Money borrowed for more than one day but upto 14 days

i HATFAT S ?

D) e ot 3 fordr ager 3 & ardt a7 3w & o=y

2) vk o & s1ftres oiferet ot fett cven o fordr 7T 3u & o
3) e ot & 31T AifheT A ferett o & Fordy g 3um o arfy
%) va oot & 31Tt Afthet 14 Rt a6 & fordy FpaT suR ol iy

Ques # :94

Return on a security consists which of the following ?
1) Dividend

2) Capital gain

3) Both dividend and capital gain

4) None of these

YR W e AT A § fhd enfAd Far g 2
1) srerrer

2) diefr armet

3) SmaTTRT AT Gl T At

Y g1t A 1S oA

Ques # :95

Which of the following is not considered a money market instrument ?
1) Treasury Bills

2) Shares and Bonds

3) Commercial paper

4) Certificate of deposit

fF=a & e T SIS STHIOT AL ATAT ST 2
D @rmem faas
2) 3ter T afos
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3) egraiftes o
4) STHT T GHOT I

Ques # :96

Which of the following tax is exempted for Mutual Funds ?
1) Income Tax

2) Capital Gain Tax

3) Wealth Tax

4) All of these

RERF FN F PR P A A ST a A ge w2
D st

2) g7t oIt Y

3) gt

4) goy & aeh

Ques # :97

In financial system reforms, market lots abolished for shares tradedin form.
1) Physical

2) Dematerialised

3) Both Physical and Dematerialised

4) None of these

fareeiar yomrelt e T H 3 F FRIER & fA 19 dfew F1 gared fmar |
D sifaes

2) g

3) siifaer @ e =t

Y) goTat A IS oA

Ques # :98

In the traditional protfolio construction approach, a portfolio manager considers :
1) Risk

2) Return

3) Risk and Return

4) Risk and capital Gain

RRTE NERRrEY Ffor e fRemtor 2, v S et Rar #ars
D snfas

2) gfawher

3) i@ qar gfawer

4) ShfEre oo Sl amsT

Ques # :99

Markowitz model of portfolio theory was developed in :-
1) 1952
2) 1962
3) 1972
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4) 1982

TEwifaat Rga FT AR Alsd & wfaa Frarmarar -
1) 1952
2) 1962
3) 1972
4) 1982

Ques # :100

Whic one of the following is not a current liability ?
1) Outstanding expenses

2) Advance Payment

3) Income Tax Payable

4) Bank Overdraft

forer 7 & Flerar Are aTRcT G B 2
D seca=ag

2) 3173 geTeTet

3) &7 3T

1) dop RRFS

Ques # :101

If the opening stock is Rs. 58,000, purchase is Rs. 4,84,000 , sales is Rs. 6,40,000 , Gross Profit rate 25 % on
sales, then what will be the stock turnover ration ?

1) 5 times
2) 7 times
3) 8 times
4) 10 times

T IRIAF THE 58,000 T. §, F 4,84,000 T. &, Y 6,40,000 T. §, Hehol AT ST faehT UV 25% ¢,
W’trmﬁaigtnr-rwa?rr?
1)531?1T
2) 7 31T
o)
3) § =TT
o)
4) 10 [T

Ques # :102

The excess of sales over variable cost is called :
1) Margin of safety

2) Contribution

3) Fixed cost

4) Profit

Y 1 IREdTier AT & I AT FgATar g :-
D) gat &r drer

2) 3ierere

3) f&eR mera

4) omsT
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Ques # :103

Which one of the following is not the example of Intangible Assets ?
1) Goodwill

2) Copyright

3) Trade mark

4) Preliminary expenses

T A @ e s Gufeaat 1 semeor Adt & 2
D fa

2) sidRTSE

3) v

4) gRfA® g

Ques # :104

ABC analysis technique is related to :
1) Ratio Analysis

2) Inventory Analysis

3) Trend Analysis

4) Funds Flow Analysis

v faRavor aeedler . dgEfaa e
1) 3teqare fazeror

2) T&e eaor

3) gafea fazersor

4) 1Y yarg fFeawor

Ques # :105

Margin of saftey is :

1) Projected sales - Actual sales

2) BEP sales - Projected sales

3) Actual sales - BEP sales

4) Actual sales - Cost of goods sold

Wﬁ?ﬁﬂT%:-

D geyfyea foreh - aredfaes foshr

2) gH- faede fadhr - gaifaa o

3) areafaes fahr - ga- faeoe s

4) areafdes foshT - ST 3T ATl ST e

Ques # :106

What will be the affect of rise in price per unit on BEP, if other things remain same ?
1) BEP will increase

2) BEP will decrease

3) BEP will remain the same

4) None of these

i $18 Hea A IS 1 9 - e foig w77 wena gem, If 3 ard g el 8 2
D) @ - Rt g 9 S
2) gx - e foreg Tre ST
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3) a7 - e g waAT W@

Y go1at A 1S A

Ques # :107

When the current ration is 2 : 5 and the amount of current liabilities is Rs. 25,000 , what is the amount of
current assets ?

1) Rs. 62,500
2) Rs. 12,500
3) Rs. 10,000
4) Rs. 5,000

ST Te] HeTUT 2 = 5 8 T °Te] T rcat 1 Wweft 25,000 3. 8, e woafaat fr afr F=ame 2
1) Rs. 62,500
2) Rs. 12,500
3) Rs. 10,000
4) Rs. 5,000

Ques # :108

Profitability Index is the ratio of :

1) Initial Investment to Present value of cash Inflows

2) Present value of cash Inflows to Initial Investment

3) Initial Investment to Average cash Inflows

4) Project's Average Profit after tax to Initial Investment in Project

ATHETIS T AT 39T §

D) grifaen fder & Aok 3ieardia! &1 aadATeT Hod

2) Qehg 3fedTaal ST IdHT Hod § YR foraer

3) yrRfAe Raer § 3T AF3 =dratgr

4) & geaTd IR 3 3HT orer ¥ GRS F g e

Ques # :109

Marginal cost equation is :-
1)S-V=F+P
2)S+V=F-P
3)S-V=F-P
4)S+V=F+P

WATT T FHIRIOT § -
1)S-V=F+P
2)S+V=F-P
3)S-V=F-P
4)S+V=F+P

Ques # :110

Annual consumption of material 50,000 units, cost of processing an order is Rs. 20 and carrying cost per unit
is 50 paise per year, then what will be EOQ ?

1) 40,000 units
2) 2,000 units
3) 1,000 units
4) 500 units
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ATATAT &7 arfies 3T9Yer 50,000 SHISTT, Th TS &t T ARTT 20 T YT I $H1S IW@-IGTT
areTd 50 YuT yiday 8, a« 3 ameer A= #4r geiY 2

1) 40,000 SehrET
2) 2,000 SHTEIT
3) 1,000 SehIEAT
4) 500 ZeTSTT

Ques # :111

Which of the following budget is a consolidated summary of all the functional budget ?

1) Master

2) Sales

3) Production
4) Cash

rafafad gl # ¥ wiaar g3 FarcAs ol &1 v gaAfFT AT g 2

) #reex
2) fage
3) searest
4) Qs

Ques # :112

What are the limits of the correlation coefficient ?
1) No limit

2)-1and 1

3) 0 and 1, including the limits

4) -1 and 1, including the limits

HEHEHT I[UTT HT HATE FITE ?
D) g drar it

2) 1auri

3) 0 e 1, daEmsit afd

4) 1 gar 1, SaEnit aed

Ques # :113

The two lines of regression become identical when :

Dr=1
2)r=-1
3)r=0
4Hr=1lorr=-1

v $Y 21 YW@ GAT @ S R, 59

Hr=1
2)r=-1
3)r=0
4)r=1?3ITr=-1
Ques # :114

Given the regression equation as 3x + y = 13 and 2x + 5y = 20, which one is the regression equation of y on x

file:///C:/Users/DIPLMain/Desktop/Rpsc-CLE-QPs/82-Economic%20Admn%20And%20Finance%20Management-1I/QP_82-Economic%20Admn%20And%?2...

College Lecturer Exam - Economic Admn And Finance Management-I|

31/41



24/06/2016 College Lecturer Exam - Economic Admn And Finance Management-I|
?
1) 1st equation
2) 2nd equation
3) Both 1st equation and 2nd equation
4) None of these

3x +y =13 TYUT 2x + 5y = 20 & T A TG FHHIOT G a1 §, et AT x W y FT I wma1e
THIRIOT § ?

D) ggem geeor

2) gar gHRToT

3) gl FHIHIOT AT GERT FHIHIOT &t

4) goTet q IS A&

Ques # :115

If two events A and B are independent, then

1) They can be mutually exclusive

2) They cannot be mutually exclusive

3) They cannot be exhaustive

4) Both, They cannot be mutually exclusive and They cannot be exhaustive

I &Y gear A YT B F9a &, a9

D) 3 e 3rvasif @Y denet &

2) ¥ RER 9Tl 7ET gf Fehdll &

3) & FFqOT 8T &Y TR &

4) 3 IR 39Tl AL &Y Aehell & TUT Y TFGUT FAET & Fehell & et

Ques # :116

A bag contains 12 balls which are numbered from 1 to 12. If a ball is selected at random, what is the
probability that the number of ball will be a multiple of 5 or 6 ?

1) 0.30
2) 0.25
3) 0.20
4) 13

F dA A 23, T W1/ 12 7F Ao R 14 3, IR Iefoes w7 & v 3 gt S 8, /=
WTRAeaT & $Y 3G T TEAT 5 AT 6 0T 7 ghh 2

1) 0.30

2) 0.25

3) 0.20
4 13

Ques # :117

A number is selected from the first 25 natural numbers. What is the probability that it would be divisible by 4
or7?

1) 9/25
2) 11/25
3) 9/625
4) 11/625

Tl 25 TUTHfaT WEATHT & T WEAT HT IATT foraT 13T, 1 Wifdvar ¢ &y a8 4 317 § e
ghaft 2
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1) 9/25
2) 11/25
3) 9/625
4) 11/625

Ques # :118

In normal distribution mean, median and mode are :
1) Zero

2) Not equal

3) Equal

4) None of these

AT fAa0T & ATET, AETHT TUT IgelF & :-
D) e il

2) FHTT &

3) @@

Y g1t A 1S oA

Ques # :119

If S.D. = 20 and sample size is 100, then standard error of mean is :
1)2

2)5

3) 1/5

4) None of these

I 8. D. = 20 T yidEe AHR 100 § 79 AT H gAY :
1)2

2) 5

3) 1/5

Y go1dt @ 1S A

Ques # :120

If the price of all commodities in a place have increased 1.25 times in comparison to the base period, the index
number of prices of that place is now :

1) 125
2) 150
3)225
4) None of these

af v Ture 7 welt a3t F AET IR T Ay oA F 1.25 AT 9 AT 8, I 37 T F Hedl

T AHIS ¢ :
1) 125
2) 150
3) 225

Y ga1dt A 1S oA

Ques # :121

Linear Programming was developed by :-
1) George B. Dantzig

2) T. C. Koopans

3)J. V. Neuman
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4) Oscar Margenstern
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YERT granfer AR fah fAd Y o=t ot -

D) Sier &, derfSter
2) & &, Hued
3 A s
4) 3ifEaRt AREEeET

Ques # :122

Main sources of hypothesis constru
1) General Traits

2) Analogies

3) Personal experiances

4) All of these

ction is :-

aR&euar faTor & g i § -

D) g gefa
2) gHEEYard

3) cafaeTd Js7aa
4) gerat o @l

Ques # :123

Game Theory helps to understand the behaviour of firms :

1) That are strategically independent

2) That are strategically interdependent

3) That do not face any competition
4) That are not profit maximization

$1sT fAETT BIAT FT ITERT THSAS H ERAF & :-

D3 ofds sod Tads g

2) 3 e ®9 @ e e E
3) 3 1S ot SfIANFNAT T THAT G T

1) I HTFIHHIOT TET

Ques # :124

An index number is used :-

1) To measure changes in quantity
2) To measure changes in demand
3) To measure changes in price

4) To measure changes in variable over time

A 3R RaT AT e -
D) #rar & aRade amae #r
2) #far # aRad AT HY
3) g # IRTdT AT Y

4) FHAGR TR F IRadT AT Fr

Ques # :125
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How many local boards of RBI are there ?
1)
2)
3)
4)

Rad d& & fraa TaiT AvsT g @ 2
1) 4

2) 5
3) 6
4) 3

W N W B

Ques # :126

Which of the following Acts not administerd by the RBI ?
1) Banking Regulation Act

2) Government Securities Regulation Act

3) Foreign Exchange Management Act

4) Depositories Act

Rrfatad st # & e Rord 8% garr v adi & 2
D) Sfsper orsrer wRfeas

2) wrerdr afastfar frawer sifafags

3) e Rfesw vewr sfRfaaw

4) feureredy fRfATH

Ques # :127

How much is the repo - rate as on 31st March 2016 ?
1)6.75 %
2)5.75 %
3)7.75 %
4)8.75 %

31 ATH 2016 H Ry YT e ot 2
1) 6.75 %
2)5.75 %
3) 7.75 %
4) 8.75 %

Ques # :128

Which of the following was the first financial institution in India for industrial finance ?
1) ICICI

2) IFCI

3) SIDB

4) SFCs

sitezitfire Frea & P srer & vt # @ el worer el e oft 2
1) 3oz @ we Rfevaer e

2) sreciver 3ie v e FroreT

3) o1 3T fasra &S

4) 57 faed et
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Ques # :129

Which of the following was India's first mutual fund ?
1) PNB mutual fund

2) BOI mutual fund

3) SBI mutual fund

4) Unit trust of India

R # frafaf@a & & Siaar v 7= $os ar 2
D) gstrer sYererer 8% Fgz3rer HUS
2) 3% 37T 3T0=aT FYTY3Te HUS
3 ' 277
) T I 31T 30T FITY3TT HUS
4) HRAT SHE Y=aTH AUSS

Ques # :130

When the GATT come into being ?
1) 1948
2) 1949
3) 1947
4) 1951

e Fa 3T & 3mar 2
1) 1948
2) 1949
3) 1947
4) 1951

Ques # :131

External Commercial borrowings are administerd by :-
1) Commercial Banks

2) Enforcement Directrate

3) Reserve Bank of India

4) Ministry of External Trade

qTE{Y SATITRE F0T FT YaereT fHar AT @ -
D) grarfies St garr

2) yadet fAeeimera gar

3) Rt & anr

%) faeeft STTIR FATer 2aR

Ques # :132

Current account, as a part of overall balance of payment, does not take into account :-
1) Merchandise

2) Invisibles

3) Foreign Direct Investment

4) Insurance

HH $ITAT Helorel & T & T F °1e Wi 7 Hlerelt 7 7 wiFaAfaa 7@ ¢ -
D) zararfyas aeqe
2) s Ae
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3) gzt e faferaer
4) ST

Ques # :133

Netting helps in :

1) Reduction in transaction cost
2) Reduction in Cash requirement
3) Better control of subsidiaris

4) Reduction in interest cost

Afear ¥ ggraar At g :-

1) Qretest et #F st ameey

2) SAaTéY FY ITFLTSHAT

3) Tgraeh FEaferat & dga} AT &
4) STt T # el ey 3

Ques # :134

An inverted yield curve is considered to be sign of :
1) Economic boom

2) Economic recession

3) Economic stagnation

4) None of these

gl ufawer as ygare A STt @ -
D) 3nf¥es wafg
2) 3nfdes A

Ques # :135

When the securities plotted above the security market line are considered to be :

1) Overpriced
2) Underpriced
3) Aggressive
4) Defensive

yferstfar s Y@ @ IR wfastfaat & fReor 1 3 g -

1) srferseaifa
2) srefaeifha

4) gratrene

Ques # :136

The extreme form of efficient market hypothesis is ;
1) Weak form

2) Superstrong form

3) Strong form

4) Semi-strong form

file:///C:/Users/DIPLMain/Desktop/Rpsc-CLE-QPs/82-Economic%20Admn%20And%20Finance%20Management-1I/QP_82-Economic%20Admn%20And%?2...

College Lecturer Exam - Economic Admn And Finance Management-I|

37/41



24/06/2016

FA AR IRFeqar 1 FfawT g
D Rder g

2) sfergee &

%) e &9

) 3régee ¥

Ques # :137

SEBI's main objective is :

1) To protect the interest of investors

2) To operate stock exchange

3) To decide the price of stocks in stock exchange
4) To manage stock brokerage firms

ARt AT 3T -
D faferiereratait & fealt s qrfara e
2) Ty RAfaeat & gareeT

3) Tty RfAFT 7 37er T Fraa FUROT T

4) ThotT STl AT T TaETeT e

Ques # :138

Which authority regulates stock exchange ?
1) Ministry of finance

2) RBI

3) SEBI

4) NSDL

oiaaT wifrwor Rfaaat &1 AaAaT Farg 2
D) faeq #amera

2) NS S 3T 0=

3) aer

4) ereTer R fEered fa.

Ques # :139

The main objective of financial management is :
1) Sales maximization

2) Profit maximization

3) Wealth maximization

4) Production maximization

facdiir yartr w1 FET 33T B :
1) farsmar &1 31T 0ehd A et

2) orsT o 31T e

3) gufeq &1 3RedH e
4) 3cqTesT & 3RIHTH HT

Ques # :140
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If the internal rate of return (IRR) is greater than required rate of return, the project will be :
1) Accepted
2) Rejected
3) No decision will be made
4) Put on hold

Hed e AT ST Fiied Tearae ¥ 18 gheft g« aRAisrer :-
D) Fferr i sRef

2) fagea & sreh

3) % oot gt g

4) o feufa & Aoty

Ques # :141

In aggressive working apital model, the size of working capital is :
1) Very high

2) Very low

3) Moderate

4) None of these

ITHAS Frad Yol ATser 7 Friefer Gelt F1 3THR g :
D) atferes S

2) atferes oy

3) Fr

Y go1dt A 1S A

Ques # :142

One of the following does not affect the determination of working capital :
1) Credit policy

2) Availability of raw material

3) Inflation

4) Operating cycle

e 7 & F1E v Frieer ot 1 rufee di -
D arg iy

2) sea) ATl T 3T

3) FHgT IIER

4) afarerT Th

Ques # :143

Calculate operating leverage from following information : Sales Rs. 80,00,000 Variable Cost Rs. 40,00,000
Fixed Cost Rs. 5,00,000 Borrowed Capital Rs. 40,00,000 @ 10% p.a.

1) 2.00
2) 1.00
3) 1.14
4) 1.8

frrafaf@a gaar & aReree scatas Ara P :- [ 80,00,000 T3 aRacderefier amra

40,00,000 T f¥UT AT 5,00,000 FOT Fait 40,00,000 10% Ty o sa05T W
1) 2.00
2) 1.00
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3) 1.14
4) 1.28
Ques # :144

If current ration is 5 : 2 and current liabilities are Rs. 200,000. How much is current assets ?
1) 14,00,000

2) 7,00,000

3) 5,00,000

4) 8,00,000

e =T 7T S : 2 § T =] &11Aed 2,00,000 T § @Y =vef Feafer g1eft -
1) 14,00,000

2) 7,00,000

3) 5,00,000

4) 8,00,000

Ques # :145

Gross Profit is Rs. 80,000; Gross Profit Inventory ratio is 25 %. Calculate sales :
1) Rs. 200,000
2) Rs. 3,50,000
3) Rs. 400,000
4) Rs. 3,20,000

HF AT & 80,000 T, Wehel AT UF SeTdecdl HIUTd ¢ 25 %. fasha a1t Afard
1) Rs. 200,000
2) Rs. 3,50,000
3) Rs. 400,000
4) Rs. 3,20,000

Ques # :146

An increase in working capital is considered as :-
1) Application of funds

2) Sources of funds

3) No impact on source / application

4) It is merely a transfer of funds offsetting

el oft 7 g 1 3rfarvmr ghem

1) a1t a1 3usier

2) ISt a1 &

3) IUHT Ud EET W HIS FoITd e

4) Ig Sharel HINT &l ATETHRY FEIT0T &

Ques # :147

Funds flow analysis helps in following :
1) Sources and Application of funds

2) Funds received or lost in operations
3) About preparation of Budget

4) All of these

FIY Ya1E fIAY0r § ST 7 A AT & :
D) &ist & &g va 3usier
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2) E3ra Fr urfe 3727aT FH F FHITCT
3) g5 AT &
) g A sl

Ques # :148

Assume : Sales Rs. 40,000 Fixed overhead Rs. 10,000 Find out marginal cost if profit is planned at Rs. 5000.
1) Rs. 25,000
2) Rs. 30,000
3) Rs. 15,000
4) Rs. 50,000

AT oY : AT 40,000 T TR 39RTT 10,000 T2 AT 197 5,000 T a9 WA AT
gt

1) Rs. 25,000
2) Rs. 30,000
3) Rs. 15,000
4) Rs. 50,000

Ques # :149

There is an increase in sales from Rs. 20 lakh to Rs. 30 lakhs and increase in profit from Rs. 2 lakh to Rs. 4
lakhs. What P/V ratio ?

1) 10 %
2) 30%
3)20 %
4)11.5 %

Ife fasFT Rs. 20 1@ & TGHT Rs. 30 TG gY; W17 2 A1 { TG 4 T g1 Al 187 ATAT HITA 811

?

1) 10 %
2) 30%
3) 20 %
4) 11.5 %

Ques # :150

Issue of Bonus shares results into :

1) Change in ownership percentage

2) Change in Assets

3) Increase in number of shares outstanding
4) Non - cpaitalization of reserves

i 3 F foreterer 1 afome g :
D) Farfarea gfaera & aRads

2) geqfaat & aRadeT

3) 3teft r T 7 Y

4) a1t a1 IR GEfieRRoT
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